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100 600 626 508 142 252 154 44

Compact andled silencer with aood attenuation 100 1000 1036 918 142 252 154 6,4
ompact angied silencer with good attenuation. 125 600 626 496 149 263 177 46
. - . 125 1000 1036 906 149 263 177 75

The silencer’s measurments makes it suitable for installa- 160 500 e 78 56 280 212 52
tion above suspended ceilings or where installation space ’
‘o limi 160 1000 1036 888 156 280 212 7,5

is limited.

200 600 626 458 202 361 253 6,8

The silencer’s attenuation material is Acutec® (polyester). 200 1100 - R N U SOl Ne - SR 0

Fullfils tightness class C.

Tested according to ISO 7235 standard. Insertion loss [dB] for centre frequency [Hz]
. . . od, 1
To select the appropriate silencer and optimize connec- [mm] [mm] 63 125 250 500 1k 2k 4k 8k
oy e e otsoras® @ o 7 2 7w w =
| | Wi Wi
our of ° or ouriree to download sottware 100 1000 13 14 17 25 38 45 46 44
DIMsilencer.
125 600 10 10 11 21 28 21 21 23
Special materials and sizes, please contact Lindab sales. 125 1000 18 12 15 26 35 81 27 29
160 600 8 8 10 21 21 18 20 21
160 1000 14 11 15 27 34 30 30 31
200 600 7 6 10 23 21 20 21 25
200 1000 10 9 14 27 34 34 30 33

K,..: COrrection

ad, Correction, Kyt (dB) for centre frequency [Hz]
[mm] 63 125 250 500 1k 2k 4k 8k
100 8 9 6 3 -6 -15 23 -36
125 11 10 6 1 -7 13 22 -34
160 12 8 6 2 -8 -5 26 -38
200 17 10 6 0 -9 -16 25 -37
Tol.+/- 3 3 2 3 3 3 3 3
Product KVDP 90K d |
KVDP 90K | Sound power levels per octave band L, are calculated by
Connection dim. @d, adding the octave band corrections K, to the total power
@d; = 100 - 200 mm level L, from the graphs.
Length (I) in mm
I = 600 - 1000 mm Lot = L + Kot

Example: KVDP 90K - 160 - 1000
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